Scoping Run: Re: 185 AR:10
Grid Resolution dx=dy=dz=D/8
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Scoping Run: Re:370 AR:10 Scoping Run: Re:370 AR:20
Grid Resolution dx=dy=dz=D/8 Grid Resolution dx=dy=dz=D/8
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Scoping Run: Re:740 AR:10 Scoping Run: Re:740 AR:20
Grid Resolution dx=dy=dz=D/8 Grid Resolution dx=dy=dz=D/8

5e-05 T | ] 0.002 1 I T
Re:740 —— Re:740 ——

o -SE-OS = b -0 002 =1
= =
ke k=
= =
2 k-
oL L
= -0.0001 - B .0.004 -

-0.00015 . -0.006 |-

-0.0002 ' | | -0.008 ' | |
0 0.0005 0.001 0.0015 0.002 0 0.005 0.01 0.015 0.02

Tip location X Tip location X




